Casters - Caster, Headtube and Fork w/ Mtg. Hdwr.

Wide Fork

Narrow Fork

Side Frame Shown For

Reference Only

Fork Mounting Hardware

Caster Fork Shown
For Reference Only



Casters - Caster, Headtube and Fork w/ Mtg. Hdwr.

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 See Chart #1 Casters 1 1
2 A 1169075 Kit, Caster Attaching Hardware, Narrow Fork (Pair) 1 1
5 Spacer (5/16 x 15/32 x 1/4") 1 4
6 NLA - Locknut (M8 x 1.25) 1 2
8 Bolt, Cap, Hex Head (M8 x 55mm) 1 2
3 B 1169076 Kit, Hardware, Caster Attaching, Wide Fork (Pair) 1 1
4 Washer, Flat (5/16 x 5/8 x 1/16") 1 4
6 NLA - Locknut (M8 x 1.25) 1 2
7 NLA - Screw, Hex Head (M8 x 1.25 x 80mm) 1 2
9 See Chart #9 Headtube and Fork Assembly 1 1
10 CD 1169073 Kit, Headtube Attaching Hardware (Pair) 1 1
11 Cap, Head Tube, Caster Housing 1 2
12 Plate, Mounting Tube Head 1 2
13 Plate, Mounting Caster, Inner 1 2
14 Insert, Support Fork 1 2
15 Screw, (M6 x 1 x 37mm) 1 4
11 1540575 Cap, Head Tube, Caster Housing 1 1
NOTE: A -Includes items 5, 6, and 8.
B - Includes items 4, 6, and 7.
C - Includes items 11 - 15.
D - Please review Owners Manual for specific installation instructions before replacing these parts on chair.
#1 Casters
Caster Tvpe Wheel/ Tire Size Used with Used with
yp Tire Type Narrow Fork Wide Fork
5ALUM Aluminum/ 5" x 1" 1026952 N/A
Urethane
AT901 Composite/ 5" x 1" 1029496 N/A
Urethane
AT902 Composite/ 6" x 1" 1034352 N/A
Urethane See Note(s) A
6PNEU Composite/ 6" x 1-1/4" 1044040 N/A
Pneumatic
AT903 Composite/ 8" x 1-1/4" N/A 1166026
Urethane
AT1292 Composite/ 8" x 1-1/4" N/A 1166028
Pneumatic
1492 Pneumatic 8" x 1-1/4" N/A 1166027
Flat Free

NOTE: A - Consists of (2) Casters.

#9 Headtube and Fork Assembly




Casters - Caster, Headtube and Fork w/ Mtg. Hdwr.
#9 Headtube and Fork Assembly

5ALUM AT903
AT902
Seat to Floor Height A‘¢5T§8|1:T 6PNUE A-lrisgz
(Narrow Fork) (Narrow Fork) (Wide Fork)
Tin: I}l)4 1542007 N/A N/A
FSTF15- 16
(15 - 16" H) 1488399 N/A N/A
EfGT '_:ig..' ,_109 N/A 1538090 N/A
FSTF18 - 19 1449113
" N/A N/A
(18-19"H) See Note(s) A
FSTF18 - 20
(18 - 20" H) N/A N/A 1449113

NOTE:

A - Used on AT903 only.




